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3 Exam Questions 

Yr 1 – Straight Line Graphs 

 

(1) The line segment 𝐴𝐵 passes 

through 𝐴(4,1) and 𝐵(8,13). The 

perpendicular bisector of the line 

segment 𝐴𝐵 crosses the 𝑥 axis at 

𝑃 and the 𝑦 axis at 𝑄. Find the 

length of 𝑃𝑄 giving your answer 

as a simplified surd. 

(2) Line 𝑙1 passes through the 

points (−6, 3) and (2, −9).  𝑙1 

crosses the 𝑥 axis at 𝑃 and the 𝑦 

axis at 𝑄. Find the exact area of 

∆𝑃𝑂𝑄 where 𝑂is the origin. 

(3) Point 𝑃 has coordinates (3, 𝑝) 

where 𝑝 < 10. The point 𝑄 has 

coordinates (9,13). Given that 

the length of the line segment 

𝑃𝑄 = √85, find the equation of 

the line through 𝑃 and 𝑄in the 

form 𝑎𝑥 + 𝑏𝑦 = 𝑐. 
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